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28-05-0001 HEET J\BITH ER490&F1 H 581 0 K = i
28-05-0002 HEET J\I&2TH EH490%2 H 295 0 A7 N3]
28-05-0003 HEET HE2TH F375%1 H 923 0 A7 ;3 ]
28-05-0004 HEET Ak F234% H 234 0 A7 N: 3.1
28-05-0005 HEET fla R FR238%1 H 733 0 A7 N3]
28-05-0006 HEET fia R FA238%2 bl 49 0 K 5=
28-05-0007 HEET A 1293% H 429
28-05-0008 HEET AR R164% H 813
28-05-0009 HEET Ak 17971 H 280
28-05-0010 #iEET 5% LLIET F2361%F H 595 0
28-05-0011 HEET XEH=TH BR1778%2 puil 152 0 A7 ;3 ]
28-05-0012 HEET XEHE=TH 17781 bl 399 0 R =
28-05-0013 HEET XEH=TH EA1783%3 P 9.91 0 EARLTE
28-05-0014 HEET XEH=TH E1782%1 bl 69 0 EABRLTE
28-05-0015 HEET XEHE=TH F1782%2 bl 153 0 EARNTE
28-05-0016 EEh REZTH 363% P 264 0 BN S HE RS
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